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Correct Option selected Wrong Option selected or Not Answered Correct Option

Q.No: 1 Hawalais ___

A Tax evasion

B Illegal trade of exchange of forex currency

C Illegal exchange of securities in share market
D Whole knowledge about a subject

Q.No: 2 Which of the following pair is not correctly matched ?
A RTGS - Real Time Gross Settlement
NEFT - National Electronic Funds Transfer

ECS - Electronic Capital System
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IFSC - Indian Financial System Code
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Q.No: 3 When was the Bank of Hindustan established? % offp g™ 1 RITT Ha P TS o ?

A 1777 1777

B 1711 1711

(o} 1775 1775

D 1770 1770

Q.No: 4 For how many days transactions are done under the call money market (call money market)? P A AThe (A 1 SR ) F I8 fhan &1 &1 ae e sma
A For 1 day 1fea® ﬁl’

B For more than 30 days 30 9 3t 3 & Rig

C For 15 to 30 days 15 9 30 i & g

D For 2 to 14 days 2 ¥ 14 i e

Q.No: 5 _ was earlier known as ‘DasiAttam’.
A Kathak

B Bharatnatyam

€ Kuchipudi

D Kathakali

Q.No: 6 19977

Mohammad Ali
Aruna Asaf Ali

Dr APJ Abdul Kalam
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Lal Bahadur Shastri

Q:No: 7 which Indian state?

A Jharkhand
Assam

C Arunachal Pradesh
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Which of the following personalities received the Bharat Ratna award one year after her/his death in Profifas 7 € frd ik 3 1997 A St T ¥ T W S WA
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Bardo Chham, in which the performers wear masks representing different animals, is the dance of % fRrgR Rl 3 1 TRER 3 71 2 3
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Q.No: 16

Jammu and Kashmir

The incorrect statement about the Bahamani Kingdom is
The Kingdom was founded by Kinchit shah.

Firuz shah became the sultan in 1397.

Firuz Shah Bahmani induced Hindus in the administration on a large scale.

The Bahmani Kingdom came to existence in 1347.

Charba folk dance is related to which of the following states?
Gujarat

Uttarakhand

Himachal Pradesh

Uttar Pradesh

Which of the following dances is not associated with ASSAM ?
Bihu

Satriya

Bhangra

Bagurumba

Select the wrong statement regarding Guru Gobind Singh?
He believed in equality of all religions.

He named Adi Grantha as "Guru Grantha Sahib".

He announced the end of personal Guruship.

He was the 11th Sikh Guru.

Gidda dance is related to which of the following states?
Haryana

Punjab

Uttar Pradesh

Rajasthan

The first Invasion of Muhammad Ghori was in when he attacked Multan.

1185 A.D.
1175 A.D.
1178 A.D.
1183 A.D.

In which of the following years, battle of Buxar was fought?
1765
1760
1764
1761

Who is the author of the book ‘The little book of encouragement’?

Ruskin Bond
Annie Zaidi
Hunter Biden

Dalai Lama

Who has been appointed as the first woman chairperson of NASSCOM?

Rekha Menon
Suman Chakraborty

Vandana Sharma

iy 8k wele

NI FIRATA@A DA I

T $t R0 B e = &t i)

At =g 1397 & e &1

fp<eT 2me TEw A 93 U W R # fEgsi @ ifve feam
qET AT 1347 | ifera & omami

IRE P T FfaRea # 9 59 3o § W6ia 32
REN)

TES

e wew

I WA

fofaRd & 3 o1 91 79 o ¥ Jefa 7 §2
fog

iy

HiTgT

T

% s Rig & Aay F T0d HU T 909 B2
ag el uwt 9t e # Ry o 4
I afR Ty BT A IS Y WRE [T
I caftrTa oed B Ty @t dwon @
w1IRE Y

iy o Froffea § 3 fea Toa 3 dafta 82
shamom

LEic)

IR we™

AT

HEHIE, TIR) 1 Tgell STl H g o7 S I GedlH R
1185 %.
1175 %.
1178 %.

1183 %,

TRR $1 g Fofofaa & A few af ot mr ar?
1765
1760
1764
1761

T ‘g e 9 i 3@ oiic’ ¥ d@® S 87
&P sis

o S

e fosa

arg

1T 3T g Ao siwy & w9 § [FA fgad o w82
Escif:ec)

o geadt

T =T



Q.No: 17

o 0O W

Q.No: 18

o 0 w

Q.No: 19

U 0O W

Q.No: 20

Q.No: 21

o 0 w >

Q.No: 22

o 0O w

Q.No: 23

Sophia Qureshi

Which is the largest river system of Rajasthan, west of Aravali?
Sabarmati

Tapti

Kali Sindh

Luni

Who was honoured with the medal 'Kaisar-i-Hind' for her work during the plague epidemic in India?
Indira Gandhi

Tarabai Shinde

Sarojini Naidu

Annie Besant

From which state does the Kaveri river originate?
Kerala

Maharashtra

Tamil Nadu

Karnataka

Which of the following facts related to the Himalayan Mountain is not true?

Himalayan mountain width varies from 400 Km in Arunachal Pradesh to 150 Km in
Kashmir.

Himalayan Mountain represents the loftiest and one of the most rugged mountain barriers
of the world.

Himalayan mountain ranges run in a west-east direction from the Indus to the
Brahmaputra.

The northernmost range is known as the Great or Inner Himalayas or the Himadri.
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Match the following:

1 Angiosperm a Vascular bundle absent.

2 Gymnosperm | b Vascular bundle present

Pteridophytes | C

(V5]

True seeds present

1-b, 2-c, 3-a
1-c, 2-a, 3-a
1-c, 2-b,3-a

1-a, 2-b, 3-c

The process by which a solid changes directly into gas is called:
Evaporation

Condensation

Melting

Sublimation

The following question consists of two statements one labeled as “Assertion” and the other as
“Reason”. You have to examine these two statements carefully and select the correct answer to the
question from the given options.

Assertion: (A) Ozone gas in the layer of atmosphere prevents ultraviolet radiations of the sun
from reaching the earth.

Reason : (R) ozone layer is found in the stratosphere.
A is false but R is true.
Both A and R are false.

Both A and R are true.
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A is true but R is false.

Which of the following is not a vector quantity?
Distance

Velocity

Force

Displacement

Direction: The following question consists of two statements one labeled as “Assertion” and the
other as “Reason”. You have to examine these two statements carefully and select the correct

answer to the question from the given options.

Assertion: (A) Rays, salmon, eels and tuna belong to the class of fishes.

Reason: (R) They have two chambered heart and they have wings instead of limbs.

(R) is true explanation of (A)
(R) is the wrong explanation of the assertion(A)
(A) is true and (R) is false

(R) is true and (A) is false

When is World Environment Day celebrated.
5 july
5 june
6 june

24 june

A contains 25-35% carbon.
Peat

Lignite

Bituminous

Anthracite

Which among the following member belongs to the phyla Gymnosperm?

cones and spikes
ferns and liverworts
beans and nuts

cycad and pines

The universal law of gravitation is stated by

Copernicus
Kepler
Galileo

Newton

The air always moves from

Low to high pressure area

Constant pressure area

High pressure to low pressure area

Ideal pressure area

Invertebrate are divided into major phyla.
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Q.No: 36

Q.No: 37

A

B

A is used as fuel for stoves in houses.
Paraffin wax

Petrol

Kerosene

Coal

An is used to relieve heartburn, indigestion or an upset stomach.
Antihistaminicos

Antipyretic

Antacid

Analgesic

Directions: The following question consists of two statements one labeled as “Assertion” and the

other as "Reason”. You have to examine these two statements carefully and select the correct
answer to the question from the given options.

Assertion: (A)The father of the green revolution was Norman Borlaug.

Reason : (R) he implemented new high yielding wheat seeds in Punjab that increased its
productivity to many folds.

A is true but R is false.
Both A and R are false
A is false but R is true.

Both A and R are true

or continuous noise has adverse effects on the people of society.
Very loud
Disturbed
Fast

Slow

Select the correct mirror of the given figure when the mirror is placed on the right of the figure.

Choose the correct mirror image of this combination- IKLJ.
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Q.No: 44

Choose the correct mirror image of this combination- FDAS24U.
UkLeiddaa
UkL2AdT
UkL2A1d
Uked2 Ad

Introducing a man a girl said * He is the father of the brother of my uncle.” How is the man related
to the girl?

39 Ao @1 g1 qU0 B4 - FDAS24U
UkLe1aa
UkL2Ad1
Uke2A1d
Uke12 A0

TF et B Ui 3 U TH ASH! 3 FEl "I IR I S Wi F o

Father qrar
Daughter L

Uncle EIEN
Grandfather <rar

In the following question, a series of letters is given. Some letters have been removed in these series,
and they are in the options given below the series in the same order as they should be. Study the
given series carefully out of the four alternatives given below, and find the one that best fits in place of
the missing letter of the series.

__bc_abcc_b__ca

acac
acca
babc

acab

Select the Lettered pair that has the same relationship as given in the question:

Chaff : Wheat
Blood : Vein
Bone : Flesh
Dregs : Wine

Rubbish : House

A is B’s brother, C is A’s mother, D is C's father, F is A’s son. How is B related to F’s child?
Grandfather or Grandmother

Cousin

Nephew

Aunt

Given question has main statement followed by four statements. Choose the ordered pair of
statements, where the first statement implies the second, and the two statements are logically
consistent with the main statement.

The new is either fabricated or genuine
A. The new is fabricated

B. The new is not fabricated

C. The new is genuine

D. The new is not genuine

DA

AB

BD

AC

Select the Lettered pair that has the same relationship as given in the question:

Hillock : Mountain

Grass : Tree
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Hare : Animal
Ant : Elephant

Bush : Forest

M is brother of D. R is son of D. F is father of M and T is mother of R. How is D related to T?
Son

Daughter

Brother

Husband

Choose the correct mirror image of this combination-KJBUIS1J.
LZIZEU
LI2IUEA
LIeIuiiad
TIeiugAl

Given question has main statement followed by four statements. Choose the ordered pair of
statements, where the first statement implies the second, and the two statements are logically
consistent with the main statement.

The fee is collected by either the local authority or by the federal government
A. The fee is collected by the local authority

B. The fee is not collected by the local authority

C. The fee is collected by federal government

D. The fee is not collected by federal government

DA

AC

BD

AB

Select the letter-cluster that can replace the question mark (?) in the following series.
BCD, DEF, FGH, HIJ, ?

HJH

1J1

JH]

JKL

In the following question, a series of letters is given. Some letters have been removed in these series,
and they are in the options given below the series in the same order as they should be. Study the
given series carefully out of the four alternatives given below, and find the one that best fits in place of
the missing letter of the series.

bc__b__ ¢ b_cchb
bcbc
cbbc
bbcc
cbchb

M,DPTHUERIR, DB TAEIF, M BTG § IR T, R B A1 1
¥
¥
g
ufa
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Amit is the great grandfather of Chandan’s only son, who is the husband of Puspa ,whose father-in-
law is the husband of Bidya. How is Bidya related to Amit?
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Select the option that is related to the third word in the same way as the second pair is related to the
first pair.

RAW : India :: CIA : ?
England

Japan

China

America

Choose the correct mirror image of this combination- EWSFGVIH3549611U1643CGH.
HoDEko I UIlaRkeEHIV OTW 23

HoODEko1UlIoREEEHIV ORIV

HODEkoIUlIoREZEHIVOTZW T
HODJELa[UTIoRkeEHL YV DE2TW T

A is brother of B and C. D is mother of C. If E is father of A, then which of the following is definitely not
true?

D is wife of E
Ais son of D
E is father of B

B is son of E

Given question has main statement followed by four statements. Choose the ordered pair of
statements, where the first statement implies the second, and the two statements are logically
consistent with the main statement.

The account will be operated by either the company or the manager
A. The account was operated by company

B. The account was not operated by the company

C. The account was operated by the manager

D. The account was not operated by the manager

AB

DA

CA

BD

Select the option that is related to the third word in the same way as the second pair is related to the
first pair.

Manipur : Imphal :: Mizoram : ?
Aizawl

Shillong

Kohima

Gangtok

The amount (in Rs) received at 10% per annum compound interest after 3 yrs is Rs 1,19,790. What
was the principal?
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80000 80000
75000 75000
1,00,000 1,00,000
90000 90000

In a marriage ceremony there are 500 guests in which 28% are males and 64% are females and the
rest are children. Find the total number of children in the party?

40
a5
50
55
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A man borrowed a some of Rs. 42,564 from a bank and promises to pay the

TF el J UF §F § 42,564 $I TR IUR o 3R 4% aF T069fS T HI R Y 3 AN

amount in 3 annual equal instaliments at the rate of 4% per annum compound WWW&W (@) 71 R

annually. Find the value of each installment. (approx. value)

Rs. 17822 17,822 ¥qd
Rs. 15672 15672 ¥9%
Rs. 16782 16,782 304
Rs. 15338 15,338 309

After selling a book at Rs. 700, a man gets a profit of Rs. 500. What is the cost price of the book?
Rs. 300
Rs. 200
Rs. 250

Rs. 120

The average weight of a metal piece as calculated by of 7 different experiments is 53.735 gm. The
average of the first three experiments is 54.007 gm, of the fourth is 0.006 gm less than the fifth, while
the average of the sixth and seventh experiment was 0.015 gm less than the average of the first
three. Find the weight of the body obtained by the fourth experiment.

54.513 gm
53.067 gm
51.717 gm
53.073 gm

The average age of 8 men is increased by 2 years when two of them whose ages are 21 years and 23
years are replaced by two new men. The average age (in years) of the two new men is:

30
20
40

50

The marked price of an article is Rs. 840. A shopkeeper gives a discount of 15% on the marked price
and still makes a profit of 19%. What is the cost price of the article?

Rs. 580
Rs. 640
Rs. 540

Rs. 600

Anita bought a phone for Rs 14,500 and spent Rs 500 for the accessories of the phone. After six
months she sold this phone for Rs 10,000. Find the percentage of loss.

18.18%
33.33%
22.5%
20%

An alloy contains 26% of copper. What quantity of alloyis required to get 260 g of copper?

1500 gm
1200 gm
1000 gm
800 gm

% JW® B 700 TG § I W TF Afdd B 500 YA FHT Y UG
300 &
200 @
250 ¥
120 ¥
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51.717 99
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580 TUY
640 ¥UY
540 ¥q3
600 ¥9Y

ST F 14,500 I T TP W W1 AR B F THHEIT & T 5(
©g TR 91 I 3 BH HI 10,000 303 & 97 famm g w1l ©

18.18%
33.33%
22.5%
20%

U YT H 26% qiaT gIdl g 1 260 UTH didl Ut B o e
TGl el 52

1500 9

1200 IH

1000 I1H

800 IH

A 20% profit is made on the sale of an article. What is the new percentage of profit or loss if the TP T B! [l TR 20% 1 7Y Bl 21

cost price become 3 times and the selling price gets doubled?

I TTT T4 3 TAT I & R fepl g SRR S ST |, A A T

25% loss 25% B

20% loss 20% T

20% profit 20% ©TH



D 25% profit 25% WYH

A principal sum lent at compound interest amounts to Rs. 3456 in 3 years £ . " ;
Q.No: 66 and Rs.4147.20 in 4 years when interest is compounded annually. What is bk SRR WRIUR TIR 3T A Rs. 3456 R4 THA Rs. 4147.20 9

oS X |l 5?
the rate of interest? RFME
A 22% 22%
B 20% 20%
C 18% 18%
D 16% 16%
Q.No: 67 75% of a number is 15 more than two - third of that number. What is the number. TP T F1 75% 39 IS & &l - e ¥ 15 3ife 31 @ Wem 3w
A 170 170
B 160 160
(o} 180 180
D 190 190
What will come in place of question mark (?) in the following expression? (oA T coteh H 921 | e |
Q.No: 68 o 5 o 10 5 10
48% Of80f125+52ﬁ0f50f175+\/._— 124 1253;[ ~FT48 % + 1753m' —9
6 13
A 16 16
B 15 15
C 4 a
D 12 12
20 litres of mixture contains 20% of alcohol and the rest water. If 4 litres of water be mixed with it, the 20 diex 91 § 20% sicdhiga 3iR I U B 3l TTH 4 e U
Q.No: 69 ) ; ) )
percentage of alcohol in the new mixture will be iR 8N
A o =%
ﬁO/ EO/
B 3 70 3 70
c o o
45, 45
D ?93 ?o/o
Q.No: 70 A sum amounts to Rs 965 at 10% per annum in 2 years, compounded annually. Find the sum. e IhafE R R 10% Tffe = ot o § 2 auf § & A 96
A Rs.215.261 Rs.215.261
B Rs.797.520 Rs.797.520
c Rs.517.234 Rs.517.234
D Rs.214.481 Rs.214.481
Ir'1 the guestion, as.sumlng the given statements to be true, find which of the two conclusions I and 11 o , U T e B w A T, T #if B o 9 R
given below them is/are followed.
DY
Statements:
1. All tickets are trains. Lwf B
.No: 1. $3 ST 9 3
Q-No: 71 II. Some trains are passengers. I i
- foreepd:
Conclusions:
1. All tickets are passengers. Lwh T &I
II. Some trains are tickets. 1.2 a:[ &
A Both conclusions I and II are true foreed 1 iR 11 SR W@ ©
B Neither conclusion I not II is true AdafeirsikaAfnaas
C Only conclusion I is true ool Iaa g
D Only conclusion II is true Faa 1 wa @

0O Nna* 72 Which of tha fallawina will Fama in tha nlaca of alactinn marlk? frafafan O & s usaEs fos & WA oo s 2



cccbb - aa - cc - bbbaa - ¢ cccbb - aa - cc - bbbaa - ¢

A acbc achc
B baca baca
C baba baba
D acba acba

There are six friends-Santu, Kaantu, Mintu, Akku, Rinku and Chintu. Santu is younger than Kaantu but ¢ i s . i o
Q.No: 73 elder than Rinku. Mintu is the eldest. Akku is a younger than Kaantu and elde?‘lthag Santu. Rinku is gﬁ%géﬁ ﬁgag’gmﬁgﬁg;%z_g;mﬁéﬁ
elder than Chintu. Who is the youngest persons? ' g

A Akku s
B Rinku ﬁf
c Chintu fig
D Kaantu B,
Which of the following will come in the place of question mark? FofaRea & 3 w1 Uyeaa® fog & M W S ?
Q.No: 74
_r_pq_p_qr_ p_r_pq_p_qr_
A qqprs qqprs
B parrp parrp
c qprpp aprpp
D rpqrp rpqrp
Five people namely, Vishal, Neha, Vikas, Sakshi and Vivek, are sitting in a row facing north. Vikas is U afad, fa=ima, g1, e, el ok fade, e dffa A s g &
No: 75 sitting to the right of Neha. Neha and Vivek are adjacent to each other. Vishal is on extreme left end. f3®R 781 & aI¢ 3R ¥a1 81 7T 3IR f39F TH g & G H 95 g1
Q-No: Sakshi is not sitting on any extreme end. Neither Vivek nor Sakshi is sitting adjacent to Vishal. Who  Selt fopdlt oft R W 72 831 &1 1 ) 33w 1 & et fowner & s @
is sitting second to the left of Vikas? T & 910 F G VM |R S 987 32
A Neha EH
B Sakshi waft
C Vishal e
D Vivek fads
Find the missing term. qud g 1T P
101 | 215 112 101 | 215 112
Q.No: 76
12 15 2 12 15 ?
43 |10 | s4 43 | 10 [ 34
A 14 14
B 13 13
C 15 15
D 16 16
I5T Wy W gd & MUl oof B o gH B 34 Y Smufy gt e A«
Q.No: 77 If in a certain code, EARTH is written as FZSSI, which word would be coded as XZUDS? gfe feft g e &, EARTH $ FZSSI & 9  foran man g, & forw |
A WAVES WAVES
B YXVET YXVET
C WATER WATER
D WAVER WAVER
Q.No: 78 Il:nzjggzvlanguage, NEEDLE is written as MFDEKF. How will HAMMER be written in the same o T uT #, NEEDLE #1 MFDEKF R T3 G‘»&ﬁﬁ' A
A IBLNDS IBLNDS
B GBLNDS GBLNDS
C GALNDS GALNDS
D GBLNFT GBLNFT



Q.No: 79

O 0O w P

Q.No: 80

o 0O w >

Q.No: 81

o O w

Q.No: 82

o 0O w »

Q.No: 83

o 0 w r

Q.No: 84

o 0O W

Q.No: 85

In the question given below, some statements are given followed by few conclusions. You have to

413 T T vy F, $© B IR IS 918 T9 sy Rw M ¥ e

consider the statements to be true even they seem to be at variance from commonly known facts. You a2t ¥ i TIftd g €11 SMUe! a8 a9 o3 § 5 fiw u fseef & 9

have to decide which of the given conclusions, if any follow from the given statements.

Statements:

All squares are circles.
All circles are units.
No circle is a meter.
Conclusions:

1. Some units are squares.

II. Some squares being meters is a possibility.

both conclusion I and II follow
only conclusion I follows
only conclusions II follows

either conclusion I or II follows

Find the missing term.

-~
2]

H L

81
66

72

In a code language, 54831 is coded as 63922. What will be the code for 86274 in that language?

95185
95365
77185
75365

In a row of the fifty students, A is the fourteenth from the left end the B is the 10th from the right
end. How many students are there between A and C if C is fourth to the left of B?

22
35
32
30

AT B

BY:

@i Ffga gl

Tl g 3T B

FIE g HieX TE B

s

1. $© oIl @ gl

I1. O T & Hiex T B UG Bl
e 18R 11 ST SrgERUl BRa §
Fae sy I STaRvT B §
Fae Frepd 11 SRR o3t &

a1 A Frsed 14T 11 SRR T €

Yl U< Fd B

H L K F

96 2

81
66
110
72

I} T W1 B, 54831 BT 63922 F T I Feas a7 8, @ I
95185
95365
77185
75365

T T BT U iR W, A 910 B8R A Higgdi § R B I BR A 10
BH IS RIMRYARE, AAMRCHFdaBarsm g2

22
35
32
30

In a row, A is 17% from left and B is 20% from right. When the interchange their position respectively. e dfd § A 910 SR 1741 & @R B 2 ¥ 208

Then A becomes 27% from left. Then what will be B’s position from right after interchanging? 2731 B IRl &) < 3 F R SE0 & 916 &
27 27
30 30
23 23
35 35

In a certain code RAIN is written as TCKP. How is CLOUD written in that code?

FNQWE
EMQWF
ENRWF
ENQWF

Find the missing term.

afg foht ffdd He o, RAIN BT Riad € TCKP. 39 % §, CLOUD ©
FNQWE
EMQWF
ENRWF
ENQWF

GSRCEIGKHITE



o 0 W >

Q.No: 86

o 0O w >

Q.No: 87

Q.No: 88

o 0O w

Q.No: 89

Q.No: 90

o 0O W »

Q.No: 91

12
48
24
36

Simplify:
[43x5%] + 45 =2
35.6015
39.0625
30.0925
29.0825

[2n+4-2x27/2x 2]+ 272 is equal to
2n+1

(9/8-2")

(-27** + 1/8)

1

The sum of the ages of A and B is four-thirds the age of C. The age of B is two-thirds the age of C. If
the sum of the ages .of the three persons is 35 years, find the age of B. (in years)

15
10
20
18

What value would come in place of the question mark (?) in the following equation?

2 of 2 of 1575 + (y2) = 66.98 + 32 % of 786

56
36
(56)?

V56

If the radius of a circle is % cm, then the area of the circle is equal t0?
7

196
121
169
225

Simplify-

a
6338%2 x 129614
628 x 362

o=

10| 20 | 30

w
et
(=]
—
(2]}

12
a8
24
36

weiga
[43x5%] + 45 = 2
35.6015
39.0625
30.0925
29.0825

[27#4-2%x27/2x2(0*2) [+ 27 R &
ont1

(9/8-2)

(-27*! + 1/8)

1

A SR B 1 31 F1 AN C $T 31 HT IR-[IETS §1 B BT M C HI 3
R 35 9 €, T B P 1Y T B3 (auT 7)

15
10
20
18

frofafad adiexo & nyaras fag (?) & R W &1 TF ST

15751 2 F12+(V? ) = 66.98 + 786 FT 32 &

56

36
(56)°

V56

196
121
169
225

WA Hifore-

a
633%2 x 12964
623 x 362

[N



Q.No: 92

O 0O w

Q.No: 93

o o w

Q.No: 94

O 0w

Q.No: 95

o 0 w

Q.No: 96

o 0O w

Q.No: 97

o 0O w »

Q.No: 98

o 0O w

Q.No: 99

O 0O w

Q.No: 100

36

Find the area of a triangle whose sides are 12 cm, 16cm and 20 cm.

144 sq cm.
96 sq cm.
108 sq cm.

72 sq cm.

Which of the following is divisible by 6?
99752

88265

22896

643132

If 5x + 5 (2 - x) + 10 = 4x - 6 then value of x is :

8
2
6.5
4.5

Which of the following is divisible by 22?
6782
8673
2024
9826

Which of the following is divisible by 24?
7913400

987452

778912

652678

On M.G Road, three consecutive traffic lights change after 18, 63 and 72 seconds, respectively. If the
lights are first switched on at 10:00 A.M. sharp, at what time will they change simultaneously?

10:08: 24
10:08:04
10:08:44
10:08:34

Find the greatest number less than 900, which is divisible by 8, 12, and 28.

835
840
845
850

Find the largest number that can divide 513,783 and 1107

18
27
71
37

Solve the following pairs of equations for x and y respectively.

12x - 10y -2 =0and 10x - 10y + 20 =0

36

TP P T &% T Fio ot Yy 12 I, 16 T SR 20
144 oif SH
96 T It
108 aif S
72 3 @t

Fofafea ¥ & HH 6 A v 82
99752
88265
22896
643132

YR Ex + 5 (2 - x) + 10 = 4x - 6 A x BT AA :
8

2

6.5

a5

FrofRed & 3 o 22 3 v §2
6782
8673
2024
9826

frofofea # 9 o9 24 3 favrsa @2
7913400
987452
778912
652678

el IS W AR dH 2o a5 A 18, 63 SR 72 IFs F &
Ifg ggell IR g 10:00 T AL TG P W1t &, @ 3 fFry Ty wa

10:08: 24
10:08:04
10:08:44
10:08:34

900 ¥ W, II9 g1 G 1A Biord o %, 8, 12, IR 28 I faur
835
840
845
850

9% T IS YBI T B O 513,783 IR 1107 I I R w
18
27
71
37

© MPESB. Al igts esegyfisolt 25 PR gl 1 W x SIR y % R & a%)

12x - 10y -2=0and 10x - 10y + 20 =0



o 0 w >

13,11
10, 12

12, 10

11,13

13,11
10, 12

12, 10

11,13




